OMB CONTROL NO.	0579-0054									DATE PREPARED	8/29/2022
TITLE OF INFORMATION COLLECTION REQUEST (ICR)	Federal Plant Pest and N	oxious Weeds	Regulations								
Additional line for ICR Title if title is too long.											
ART I - ICR INFORMATION, POINT OF CONTACT, FEDERAL REGISTER NOTICE INFORMATION TYPE OF REQUEST Renewal										DATA SUMMARY	
TYPE OF REQUEST POINT OF CONTACT (POC)		TAL RESPONDENTS	<i>,</i>								
POC TELEPHONE NO.										% ELECTRONIC	
DATE PREPARED										5 PER RESPONDENT	17
PUBLIC COMMENT DOCKET NO. FEDERAL REGISTER NOTICE										AL BURDEN HOURS URS PER RESPONSE	
FEDERAL REGISTER DATE										% SMALL ENTITIES	
PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
General Permit (Merger)	7 U.S.C. 7711				P1	x	ı	1	1	0.167	1
Emergency Action Notification (Individual)	7 CFR 330.106	PPQ 523			I		ı	1	1	0.500	1
Emergency Action Notification (Business)	330.106	PPQ 523			P1		I	1	1	0.500	1
Notice of Arrival (Individual)	330.111	PPQ 368			I		I	1	1	0.083	1
Notice of Arrival (Business)	330.111	PPQ 368			P1		I	72	72	0.083	6
Application for Permit to Move Live Plant Pests, Noxious Weeds, Soil, and Prohibited Plants (Individual)	330.201(a), 360.301(a)	PPQ 526		E	I		I	864	1,728	0.500	864
Application for Permit to Move Live Plant Pests, Noxious Weeds, Soil, and Prohibited Plants (Business)	330.201(a), 360.301(a)	PPQ 526		E	P1	x	ı	3,043	6,085	0.500	3,042
Application for Permit to Move Live Plant Pests or Noxious Weeds - Interstate Movement Permit (Individual)	330.201(b), 360.301(b)	PPQ 526		E	I	х	I	947	1,894	0.500	947

			-								
Application for Permit to Move Live Plant Pests or Noxious Weeds - Interstate Movement Permit (Business)	330.201(b), 360.301(b)	PPQ 526		E	P1		I	2,100	4,200	0.500	2,100
Application for Permit to Move Live Plant Pests or Noxious Weeds - Continued Curation Permit (Individual)	330.201(a)	PPQ 526		E	I		I	57	114	0.500	57
Application for Permit to Move Live Plant Pests or Noxious Weeds - Continued Curation Permit (Business)	330.201(a)	PPQ 526		E	P1		I	49	98	0.500	49
Permit Amendments (Individual)	330.201	None		E	I		I	253	253	1	253
Permit Amendments (Business)	330.201	None		E	P1		I	719	719	1	719
Consultation with Agencies About Permit Conditions (State)	330.202(a), 360.302(a)	Letter			S1	х	I	20	460	1	460
Consultation with Agencies About Permit Conditions (Tribe)	330.202(a), 360.302(a)	Letter		E	S3	х	I	250	250	1	250
Inititial Assessment of Site/Facility for Organisms/Associated Articles (Individual)	330.202(b), 360.302(b)	None			I		I	100	100	2	200
Inititial Assessment of Site/Facility for Organisms/Associated Articles (Business)	330.202(b), 360.302(b)	None			P1		I	450	450	2	900
Unscheduled Site Assessments (Individual)	330.202(b)	None			I		I	1	1	3	3
Unscheduled Site Assessments (Business)	330.202(b)	None			P1		I	10	10	3	30
Petition to add Biocontrol Organisms to List of Organisms Granted Exemptions from Permitting Requirements (Individuals) (Merger)	330.202(c)	None			I	x	I	1	1	160	160
Petition to add Biocontrol Organisms to List of Organisms Granted Exemptions from Permitting Requirements (Private Sector) (Merger)	330.202(c)	None			P1	x	I	1	1	160.000	160
Petition to Add Plant Pests to the Plant Pest List (Individuals) (Merger)	330.204(b)	None			I	х	I	1	1	160.000	160

-			 							
Petition to Add Plant Pests to the Plant Pest List (Private Sector) (Merger)	330.204(b)	None		P1	х	I	1	1	160.000	160
Petition to Remove Plant Pests from the Plant Pest List (Individuals) (Merger)	330.204(c)	None		I	х	I	1	1	160.000	160
Petition to Remove Plant Pests from the Plant Pest List (Private Sector) (Merger)	330.204(c)	None		P1	х	I	1	1	160.000	160
Compliance Agreement (Private Sector) (Merger)	330.203(c)(4)	PPQ 519		P1	x	I	1	1	1.250	2
Written/Electronic Agreement Permit Conditions (Individual)	330.203, 330.300(c), 360.303	Letter	E	I		I	864	864	0.170	147
Written/Electronic Agreement Permit Conditions (Business)	330.203, 330.300(c), 360.303	Letter	E	P1		I	2,244	2,244	0.170	382
Written/Electronic Agreement of Permit Amendments Initiated by APHIS (Individual)	330.203, 330.300(c)	None	E	I		I	235	235	0.200	47
Written/Electronic Agreement of Permit Amendments Initiated by APHIS (Business)	330.203, 330.300(c)	None	E	P1		I	1	1	0.200	1
Written/Electronic Consultation/Objection of Permit Issuance Conditions (State)	330.204(a)(5)	Letter	E	S1		I	20	160	2	320
Written/Electronic Consultation/Objection of Permit Issuance Conditions (Tribe)	330.204(a)(5)	Letter		S3		I	1	1	2	2
Withdrawal of Permit Application (Individual)	330.204, 360.304	None	E	I		I	33	33	0.500	17
Withdrawal of Permit Application (Business)	330.204, 360.304	None	E	P1		I	237	237	0.500	119
Cancellation of Permit Application (Individual)	330.204(b), 360.304	None	E	I		I	73	73	0.500	37
Cancellation of Permit Application (Business)	330.204(b), 360.304	None	E	P1		I	215	215	0.500	108
Appeal of Denial or Cancellation of Permit or Opportunity for Hearing (Individual)	330.204(c), 360.304(c)	Letter		I		I	1	1	2.000	2

Appeal of Denial or Cancellation of Permit or Opportunity for Hearing (Business)	330.204(c), 360.304(c)	Letter		P1	I	1	1	2.000	2
Living Regulated Organisms Red and White Shipping Labels (Individual)	330.211	PPQ 599		I	I	333	999	0.167	167
Living Regulated Organisms Red and White Shipping Labels (Business)	330.211	PPQ 599		P1	I	1,000	3,000	0.167	501
Quarantine Material Black and White Mailing Labels to Return Soil Samples (Individual)	330.300(d)	PPQ 550		I	I	18	108	0.167	19
Quarantine Material Black and White Mailing Labels to Return Soil Samples (Business)	330.300(d)	PPQ 550		P1	I	130	780	0.167	131
Quarantine Material Yellow and Green Mailing Labels to Return Soil Samples (Individual)	330.300(d)	PPQ 508		I	I	18	18	0.167	4
Quarantine Material Yellow and Green Mailing Labels to Return Soil Samples (Business)	330.300(d)	PPQ 508		P1	I	130	130	0.167	22
Notification of Intent to Hand-Carry (Individual)	330.212	Letter		I	I	1	1	0.150	1
Notification of Intent to Hand-Carry (Business)	330.212	Letter		P1	I	72	72	0.150	11
Appeal of Denial, Amendment or Cancellation of Hand-Carry Intent (Individual)	330.212	Letter		I	I	1	1	0.500	1
Appeal of Denial, Amendment or Cancellation of Hand-Carry Intent (Business)	330.212	Letter		P1	I	1	1	0.500	1
Application for Permit to Receive Soil (Individual)	330.300(b)	PPQ 525A		I	I	54	54	0.500	27
Application for Permit to Receive Soil (Business)	330.300(b)	PPQ 525A		P1	I	400	400	0.500	200
Garbage Conveyance Inspection and Certificate (Business)	330.401(b)(2)(i)	None		P1	I	56	2,240	1.00	2,240
Garbage Conveyance Inspection and Certificate for Hawaii, Territories, or Possessions (Business)	330.401(c)(2)(i)	None		P1	I	9	207	1.00	207

-				_	_				
Application for Approval of Establishment to Handle Regulated Garbage (Business)	330.401(d)(3)(i)	Letter	P1	x	I	107	107	1.00	107
Opportunity to Show Cause After Withdrawal/Denial of Facility Approval (Business)	330.401(d)(3)(ii)	None	P1		I	4	4	8.00	32
APHIS Regulated Garbage Compliance Agreement and Approval Template (Business)	330.403(a)	PPQ 519, 519A	P1	x	I	70	1,540	3.00	4,620
Request for Approval to Maintain Possession of Regulated Garbage for More Than 72 Hours (Business)	330.403(a)	Letter	P1		I	1	1	0.50	1
Labelling of Regulated Garbage Containers (Business) (Third Party Disclosure)	330.403(a)	Label	P1	x	ТР	250	50,000	0.02	850
Certification of Equipment Calibration Testing (Business)	330.403(a)	Letter	P1	x	I	70	210	0.25	53
Denial of Compliance Agreement and Appeal (Business)	330.403(c)	Letter	P1		I	1	1	2.00	2
Cancellation of Compliance Agreement and Appeal (Business)	330.403(d)	Letter	P1		I	1	1	2.00	2
Request for Approval to Use New Technology for Handling Regulated Garbage (Business)	330.403	Letter	P1		I	3	3	1.00	3
Regulated Garbage Compliance Program Recordkeeping (Business)	330.403(a)	None	P1		I	70	210	0.25	53
Regulated Garbage Compliance Program Recordkeeping (Business)	330.403(a)	None	P1		R	70	70	5.00	350